








v Assume  m
v Solve Energy Equation for  h

v Use Equation of State for  ρ

v Calculate  dp /dx  (without w term)

v Solve Combined Momentum Equation for  w

v Update  m
v Update  dp/dx  (with w term)

v Calculate   ∆ plat
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Run 001/B250

Q avg = 927.01 kW/m2
Gin = 1212.8 kg/sec-m 2
Tin = 219.9 oC

Pex = 3.06 MPa

  Multi-Pass
  Single-Pass
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Qavg  = 927.01 kW/m2
Gin = 1212.8 kg/sec-m 2
Tin = 219.9 oC

Pex = 3.06 MPa
Run 001/B250 Run 001/B201

Qavg  = 289.49 kW/m2
Gin  = 149.9 kg/sec-m 2
Tin = 158.8 oC
Pex = 3.11 MPa
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